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GROUP A {New Course)

1. Answer the following questions : 1x10=10

ST eEPTRd ©ed Rl 8

(a) What is meant by instantiation ?

(b)
(c)
(@)

(e)

(@)
(h)
0,

()

27T CSCA

Instantiation I &6 e

What do you understand by constructor overloading ?
Constructor overloading 9Tl [ <&l 2

What is the significance of tellg() function ?
tellg() function= IRl &2

What is meant by dynamic memory allocation ?
Dynamic memory allocation 610 & gl

What values will the elements of an array have when it is
declared if it does not include an initializer ?

%55 <5l declare (=[S T Bl initializer TTPE A 27, (S
<elsTCbI Soille el s fE 242

Define TOP.
TOP et |

What does the select operation select from a relation ?
Relation €5l #i4 sclect operation- % select 2

What is minterm ?
Minterm <2

What is a switch ?
Switch <2

What is RJ-45 connector ?
RJ-45 connector &2
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2. Answer the following questions : ; 2x10=20
S5 PR Ued Al 8
(@) What is meant by data Encapsulation and Abstraction ?
Data Encapsulation 9% Abstraction 11 & 98 2
(b} Write the difference between call-by-value and call-by-reference.
Call-by-value ®li% call-by-reference< g A<l &l |
(c) How does inheritance influence the working of constructors
and destructors ? :
Inheritance ¢ (&E constructor 9% destructor< R el (<2
(d) Write the meaning of the file mode parameters ios::app and
10s::ate.
File mode parameter 72 ios:app Sl ios::ate < 9 IERGR
(¢) Differentiate between the linear and binary search techniques.
Linear 9% binary search technique [ES SIS /i< 71 |
() Differentiate between Candidate Key and Primary Key in
context of RDBMS. :
RDBMS < %K@%8 Primary Key SIi& Candidate Key-< Sl&< #1447 vexal |
(g9 What is the difference between WHERE and HAVING clause ?
WHERE %I HAVING clause= Si&rs #1144 {2
(h) Verify the following algebraically :
JeaifeiSta eIt SR G AL F0 2
A+AB+AB=A+HB
(i) Obtain the Boolean Expression for the logic circuit shown
below : :
wew a3l logic circuit< <ied Boolean Expression Clerel |
A >0 ;) ™\
B / / &
@ O j
[3]
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() What is WEB 2-0 ?
WEB 2-0 &2

3. (@) Rewrite the following program after removing the syntactical
errors (if any) : 3
TS TRl 2ERIEDlS P (X W) Sz eirewes! e frdl ¢
# include [iostream.h]
class PAYNOW

{
L

int Charge;
RUBILIEE:
void Raise () {cin<<Charge;!
void Show {cout<<Charge;!
A
void main ()

i
1

PAYNOW P;
P iReise 1
Show ();

v
§

(b) Answer the questions (i) and (i) after going through the
lollowing class : 1+2=3

class Maths
g char Topic [20];
int Weightage;
public:
Maths () /[ Function 1
{ strcpy (Topic, “Matrix”);
Weightage = 20;
cout<<“Topic Activated”;
\ :
!
~ Maths () // Function 2
{ cout<<“Topic Deactivated”;

b
¥
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(c)

()
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() Name the specific features of class shown by Function 1
and Function 2 in the above example.

S @RT’@‘-TCTJT@ Function 1 ®ii% Function 2-9 ¢3%l class
9 F8 takwr e G|

() How would Function 1 and Function 2 get executed ?

Function 1 ®i% Function 2 9 SR04 292
Design an algorithm that will allow. you to insert a data item
NAM in the i%® position in a single dimensional array NAMES
having n element (i<n). 3
(i<n)n FRAF T A6 GFEE Yol NAMES2 | 5 %9 @ data
item NAM S[¥y& S99 €Itd 45 algorithm design <4 |

Write a function in C++ to perform a DELETE operation in a
dynamically allocated queue considering the following
description : : 3
oS efd] [l S dynamically <59 591 queue €5k DELETE %
T SEIT A C++9 @Bl function &9 ¢

Struct Node

[
1
float U,V;
Node *Link;
l.

)

class QUEUE

i
t

Node *Rear, *Front;
public :
QUEUE () {Rear = NULL; Front = NULL;}
void INSERT ()
void DELETE ()
~QUEUE (};

[5] Contd.




(e)

(9)

ZERESCA

Or / 724 :

A line of text is read from the input terminal into a stack.
Write an algorithm to output the string in the reverse order.
3

Input terminal-= <] {10 *IF1 951 stack <BitsT bl €202 | string (5l
SeTbl FETE output B5IE «ike i @b algorithm [&7<li |

What does union operation do. ? What are the conditions to
carry out union operation ? 1+2=3

Union operation-9 & %2 Union operation< (%98 & ¥¢ 2
Qe ¢

Or / 7/

Write a query on the travellers table whose output will exclude
all travellers with a rating <=1000, unless they are located in
Sikkim. 3

Travellers table< €2§% &% query FRl Ats & s travellers—
rating <=1000 (9SEIRE outputs 4w Wa =i A codswEis
Sikkim-< 23 |

Draw logic circuit diagram for the following expression : 3

wer9 3l <if¥is I logic circuit diagram i |
V= gis e e

Or / 725}

Verify the following expression using truth table. 3

Truth table< GEace w&i= ARG Tore afoom < |
XY +Z)= XY +YZ

What is network topology? Write fwo advantages and two
disadvantages of Star topology. &

Network topology &2 Star topology = 75/ 4l SN 70! S =il

[6]




Or / a1
Write briefly about LAN, MAN and WAN.

LAN, MAN S WAN- =@ 5905 &2 |

() What is web hosting ? Name four different types of web

hosting. 1+2=3
Web hosting &2 619 @%i<9 web hosting = <3 {=2] |

Or / 23]
Write short notes on the following : | 1%3=3

ool RIERE 59 () |

(e et
N GPRS
{) EIR

4. Define a class Employee. in C++ with the following class
specification : 4

= 4
il {

woTe Wl class 99 B9 C++ © 96l class Employee define <4 ¢
Private members :

. name 20 characters

° subject 10 characters

° Basie, DA, HRA float

. salary float

Calculate () function computes the salary and return it.
salary is sum of Basic, DA and HRA

public members :

ReadData () function accepts the data values and invoke the
Calculate () function.

DispData () function prints the data on the screen.

DR GSEN [7] Contd.
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Consider the following déclaration and answer the questions given
below : - 4

weTe fral class-(bl bl 51 waie 2sPres Sed 3l

class AAA

f
i

it Bl

protected =

RS

public:

void INPUT (int);

void OUT ();

'

class BBB private AAA

{

Tt

protected :

int U, |
public : void INDATA (int, int);
void OUTDATA ();

.
)
class CCC : public BBB
{

nt M;

public :

void DISP (void};

-

)

(i) Name the base class and derived class-of the class BBB.

class BBB< base class 9% derived class—= <™ \GE

OHINESEA (8]
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(ii) Name the data member(s) that can be accessed from function .
DISP().

DISP() function< “Hl access 4 74l data member (F32)- <
ferin

(iii) Name the member function(s), which can be accessed from the
objects of class CCC.
Class CCCH object 424 7Hl access S99 “<I member function
(GT2)-= <5 R

(iv) Is the member function OUT () accessible by the objects of the
class BBB ?

Class BBB= object 428 @&l member function OUT ()
accessible 23G9

What is a copy constructor ? Discuss the various situations when.
a copy constructor is automatically invoked. I58=1

Copy constructor &2 Copy constructor B! FREFTOIE invoke T A
afeq sreE Taw SiEiva <4 |
Or / 524]

Write a program in Ct+ to print the factorial of a given number
using a constructor. 4

Constructor <j@IR [ EAHEIE @l 7RGl GBI factorial SR 2
G 9B) e B

What is a stream ? Name the streams generally used for file I/O.
4

Stream ¢ file /09 9@ ALREICS T stream AL <IN iGEIN
or / Mz

Write a function in C++ to count the number of lowercase
alphabets present in a text file “BOOK.TXT”. 4
Text file “BOOK.TXT’-9 45l lowercase alphabet 32 count $4I€ It
961 C++ function {2l

DR ESEA : [9] Contd.




7. Write a function in C++ to find the sum of diagonal elements from
a two dimensional array of type float. Use the array and its size as
parameters with float as its return type. 4
@i float type 2l <5 diagonal (s RIS EARFE Sl C++'s 95
function {&=I1 | X&/TH 1% 23 size parameter @5t a9 ) Tl SIS
334 return type float 4 =4 |

Or / =g

Write a program in C++ to implement Binary Search algorithm for
N numbers stored in an array. 4

NGl IR %67 (2 <=7 WJ&le1 bis Binary Search +i5f® Tzl SEre 9b)
C++ 22 el

DT ESEA [10]



GROUP B (0l1d Course)

3. Answer the following questions : 1x10=10
oI elHpes Beq fral ¢

(@) What is identifier ?
Identifier f%2

(b) What do you mean by function ?
PIRET Sl ieeT 5 g e

(¢/ What are the fwo ways for passing an object {o a function ?
& 70! Sl object ¢l function-t51 “IJF “if 2

(d) Write any two types of Computer Network.
PEICOI 5Tk Rl 75 2l < B |

(¢) What is class ?

Class ¢

{f)l  Explain scope resolution operator (::) in C++,
C++< scope resolution operator (::)= Ka = <=

(9) What do you mean by traversal of an array ?
*&sT «BiE traversal Ihee T TG 2

() Define Bridge.
Bridge & <refii |

(.  What is Computer Network ?

Computer Network ¢

() Explain Bandwidth.
Bandwidth—< <63 <5< <)

27T CSCA [11] . Contd.




2

Explain the following questions : 2x10=20

OGS R IR P

(@)

(b)

(¢

()

(e)

(9)

27T CSCA

How while loop is different from do ... while loop ?
While loop 96 do ... while loop= &5l ~id<y &2

Find the error(s) in the following program :
o1 2RO e (3TR) [bifE Sfgdl ¢

include <iostrem.h>

void main

f
1§

X = 20;
GOl ===t

1
J

How' does a member function differ from an ordinary
function ?
Member function 95l FHHE function dGISEE & ©iEg 722

What is the difference between public and private members of
a class?
Class 9bl¥ public < private member 3 SEe <& &9

How does inheritance influence the working of constructor
and destructors ?

Inheritance-d constructor 3% destructor= <ife wE deK
C2STIR 2

How does a derived class can get access privilage for a private
member of the base class ?

Derived class @bi2 base class—(bi private member €B[9 S0
access < RERIEPR FE0E “IF A= ?

State two conditions under which Binary Search is applicable.
Binary Search @O A =i 21 € 70/ =741 |

[12]
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(1

)

8L (@)

(b)

(¢

(@)

()
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Given a stack as an array of 7 clements " STACK
MOQT , | , . Can M be deleted before T ? Give reasons. L

7 Of Coliul el ol @bl stack, STACK : M Q T . .+
el 20T M % T Sibice @l S59 AEE? <5e el |

What is hub ? Name the types of hub.
Hub %2 Hub= a&@a &2

rite two advantages of STAR topology.
STAR topology—= 70 Ja4i o120l |

Draw a flowchart to read a number and find the sum of the
digits. 3
21 951 #H{baT FRAIGE T (26! @) SREteT @F 241z By Sl |

What is a structure ? How is structure different from array ?
Write a structure specification that includes three variables all
of type int, called hrs, mins and secs. Call this structure time.

3
Structure 2 &1 GG #1571 structure < A9 &2 int type-a fofm!
b hrs, mins 9IS secs %@ G4 time 59 structure = JiE
AGIG R e Bl |

Write a program in C++ to input a number through the
keyboard and then to reverse the number and to print it.

3
Keyboard-9 Sf#ce 327l @bl 2IfoteT 7Rth Seailt] <@ woii ftaq =i
C++-% «b] 2igas oyl | 10

Give an algorithm for the insertion operation in a queue >0
implemented as an array. S

*jglsi {eblsl ARSI queue «Bi® insertion operation ¥ it 96l 24
algorithm 7|

What is inheritance ? What are the various types of
inheritance in C++ ? 3 70
Inheritance 2 C++9 fafeq &i4l9 inheritance T2 & &2

FES] Contd.
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151

157

1135,

(f) Write some characteristics of Destructor. 3
Destructor< (S9EN @8 Ham &=l

(g} Write a function in C++ to merge the contents of two sorted
arrays A and B into third array C. Assuming Array A and B
are sorted in ascending order and the resultant array C'is also
required to be in ascending order. 3

A NI B Nl 10] SRaTs <] W e S Bl weE o
CHGS bifseT SREe AT Crtw 95] function &=

() Explain in brief about three advantages of E-mail. &
E-mail< {05! st 53t 2ol = |

Define a class to represent a STUDENT with the following
members. : 4
©sfs f@l member *RE 1 STUDENT < <51 class 26 <6

private members of class STUDENT

roll no, name, marks of MIL, English, Physics, Chemistry, Maths,
total (use suitable data type).

public members of class STUDENT

readdata () : to read initial value

caleulate () : to calculate total marks

disp () : to display information.

Write a program in C++ to print the area of a rectangle with given
length and breadth using a constructor. 4
O % @z il AR SN G B i SRR wE e i
constructor AL 4 @bl 2Acew & |

Write a function in C++ to perform Insert operation in a
dynamically allocated Queune containing names of students. 4

B 5 AT Sife® e S T4 9 Queue 9GBS Insert operation R
A FE I C++ © @bl function BRI |
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Write a program in C++ to implement Binary Search algorithm for
N numbers stored in an array. 4

N-GI 72} 71421 02 {3 W1 «BS Binary Search #%® <2/ 5405 @5
C+ 2italsl ol %

14. Describe the three basic types of cables. : 4

fel #9619 351 cable < &R <9 <=1 |

Or / F
Write about any four services available in the internet. 4

SDRCEES ToleTa Rl SRR G BEE! B

P esEn [15]




